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Демонстрационный вариант

диагностической работы по АНГЛИЙСКОМУ ЯЗЫКУ 

для учащихся 10 классов
Часть 1 (задания 1-2)
Раздел АУДИРОВАНИЕ
1

Прослушайте текст о Р. Толкиене и сделайте краткий план-конспект содержания. Часть плана-конспекта дана в таблице. Вам необходимо дополнить таблицу недостающими сведениями, записывая их под соответствующими номерами.
John Ronald Reuel Tolkien first came to England at the age of 4, when his mother determined that it would be better for him to be brought up in a milder climate. His father, a banker, should have followed his family back to England, but shortly after their departure Arthur Tolkien caught rheumatic fever and died; Ronald and his brother were thus brought up by their mother from age four onwards.

Tragedy was to mark Ronald's childhood again; when he was 10, his mother died of diabetes, leaving him and his brother to be brought up in the care of a family friend, Father Francis Morgan, a Catholic priest.

With no parents, and no family except his brother, Ronald was left much to himself; a dreamer, he loved reading and could happily lose himself in the imaginary worlds he passed through in the pages of novels. Yet as a pupil at King Edward's School in Birmingham, he proved to be a brilliant linguist, and soon mastered French and German, Latin and Greek, plus Anglo Saxon, Old Norse, Icelandic and Finnish. His interest in Scandinavian languages also led him into a world of sagas and mythology.

At the age of sixteen, Ronald fell in love with a pretty girl, Edith Bratt, three years his senior, who was another orphan living in the same lodging house in Birmingham. In the strict climate of Edwardian Britain, teenage romances were frowned on, and although Ronald and Edith did their best to keep things a secret, it was not very long. Furious, Father Francis removed Ronald to new lodgings, while Edith's guardians sent her to live with relatives in the genteel town of Cheltenham.

Heartbroken, Ronald swore eternal love to Edith, even though he could not see her again; and with no other girls to worry about, he escaped from his sadness into hard work at school, eventually winning a scholarship to Oxford to study philology.

On the day of his 21st birthday, he wrote to Edith announcing his intention of marrying her at once! Edith, however, had in the meantime got engaged to a young man in Cheltenham, and wrote back to Ronald with this unexpected news! On receipt of her letter, Ronald hurried down to Cheltenham and began courting Edith again; the other young man was soon forgotten!

Then the war began. During the next year and a half, Ronald completed his degree in English (having changed courses), getting married to Edith before being sent off to fight in the front. Two months later, he was on the Somme, where he saw many of his great friends killed.

By good fortune, Ronald came out of the war without any physical damage; but psychologically, he had been through a deeply marking experience. The war had strengthened his love of the calm of the countryside, and hatred of industry and the evil of inhumanity and war. These themes were to come up repeatedly through the idealism expressed in his fiction, from the Hobbit to the Lord of the Rings and beyond.

Tolkien died in September 1973. 

Заголовки по пунктам 4 и 11 пишет учащийся в левом столбце.

	
	Основные

смысловые единицы.
	Ответы
(заполняет учащийся)

	Childhood
	family moved to England why
	1*

	
	became an orphan when
	2

	
	brought up by
	3

	4
	devoted much time to
	5

	
	interests related to Scandinavian culture
	6

	Love story
	Edith: age
	7

	
	reaction of adults
	8

	University years
	scholarship to 
	9

	
	went to Cheltenham why
	10

	11
	the influence of the experience
Shock of the first months

	12 loved …


	
	
	13 hated …


	
	his most famous books

	14



Раздел ПИСЬМО
2

Опишите своего друга (100-120 слов) Используя следующий план.

· опишите внешность вашего друга,

· назовите основные черты его характера, 

· укажите, что вам в нем нравится /не нравится. 
	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	


Часть 2 (задания 3-20)
Раздел ЧТЕНИЕ
Прочитайте текст. Определите, какие из приведённых утверждений 
3–9 соответствуют содержанию текста (1 – True), какие не соответствуют (2 – False) и о чём в тексте не сказано, то есть на основании текста нельзя дать ни положительного, ни отрицательного ответа (3 – Not stated). Обведите номер выбранного Вами варианта ответа.
Jet plane as an invention that has changed our life

For millions of people, particularly in the United States of America, boarding a jet plane for a quick journey to a city many hundreds or even thousands of miles away, is very much a routine act. More than any other object, the jet airliner is the machine that has served to “shrink the globe”, bringing in the modern age of international travel and international economies; yet it was only in the 1950s that the first commercial jet passenger plane took to the skies. At that moment, few people could have had any idea of the impact that this new invention was going to have on civilization in the second half of the twentieth century. 

Without the jet plane to carry passengers over vast distances at high speed, be they businessmen, holidaymakers, politicians or even whole armies, the world in which we now live would be a very different place. 

The first jetliner was the Comet that took to the skies in 1951, after a year of test flights, was of course not the first jet plane. 

It was in the year 1930 that an English engineer called Frank Whittle had patented the first jet engine; but in an all-too common British twentieth-century manner, Whittle and others failed to grasp the commercial and military potential of his invention, and it was a German company, Heinkel, who actually foresaw the advantages of the new plane. 

The first British jet aircraft to fly was an adapted version of the Gloster E-28 in 1941; but in the fever of the war years, priority was given not to developing experimental aircraft, but to mass producing those propeller planes, such as the famous Spitfire, whose performance was guaranteed. So it was not until 1944 that the world's first two real jet aircraft appeared the Messerschmitt Me 262 in Germany, and the Gloster Meteor in England.

In the immediate post-war years, with the German aircraft industry out of action, development of jet aircraft technology progressed rapidly in Britain, as did aircraft design in general; and within three years of the ending of the war, the De Havilland company was working on its great project, the first passenger jetliner.

A year after the first test flight, the Comet entered commercial service, with a flight from London to Johannesburg; but it was a premature beginning. Within two years, two Comets crashed in mysterious circumstances, and all existing planes were grounded. The cause of the problem was soon identified: it was metal fatigue, a problem that had not existed with the smaller lighter aircraft of earlier times.

By 1955, a solution had been found, Comets were able to take to the skies again, and transatlantic jet services were reintroduced between London and major destinations; this time, the age of jet air travel had really begun.

3

The first test-flight of jet airliners took place before 1950s.

	1)
	True
	2)
	False
	3)
	Not Stated


4

Many people understood the role of jet airliners for globalization. 

	1)
	True
	2)
	False
	3)
	Not Stated


5

Jet planes were designed to meet the needs of businessmen.

	1)
	True
	2)
	False
	3)
	Not Stated


6

Frank Whittle patented his invention to use its commercial and military potential.

	1)
	True
	2)
	False
	3)
	Not Stated


7

World War II boosted the production of jet planes. 

	1)
	True
	2)
	False
	3)
	Not Stated


8

After World War II jet plane production in Britain had nothing to compete with. 

	1)
	True
	2)
	False
	3)
	Not Stated


9

It was difficult to understand the cause of problem with the Comets because the previous models of planes never faced it. 

	1)
	True
	2)
	False
	3)
	Not Stated


10

Прочитайте тексты и ознакомьтесь с различными точками зрения по вопросу школьной формы. Найдите аргументы «за» и «против» школьной формы и кратко зафиксируйте их в таблице (не менее 5 аргументов с каждой стороны). 

	A.
	School uniforms have definite benefits. Firstly, there will be no difference between rich and poor. That will promote a sense of teamwork between students because they will all look the same, and that will ensure equality between students. Secondly, school uniforms will allow children to focus more on learning. Finally, school uniforms can be also a tool to save families time and money. However, this is what most students or children want to eliminate from their schools. They want freedom and believe that school uniform violates the first amendment!

	B.
	Kids should not have to wear school uniforms because they are a nuisance.

When you wear a school uniform you feel locked up inside, feeling that nobody really knows who you are. When you wear what you want to wear, you are being you and that’s what makes you different. Wearing school uniforms can limit students’ freedom of expression. We don’t want to reduce creativity, especially of those kids who want to be designers.

	C.
	Without uniforms kids can wear whatever they want, which is all good and well, but there is a lot of judgment. A lot of kids will tease others because of what they're wearing. But with uniforms it is taken away because everyone will be wearing the same thing. I know your first questions will be: "But where's the individuality?" But it can still be there. Kids who roll their sleeves up or fold their collars differently, or who tuck their shirts in or leave them out. There are a lot of factors to keep in mind.

Secondly, I know you'll say but that's teaching them conformity that everyone has to be the same, but is it really? It's not. It's teaching them respect and to a certain degree discipline. No wonder, it’s a must to wear uniforms in elite boarding schools.  

Thirdly, kids don't need to wear whatever they want to be different and individual or to express themselves. There are other ways. By giving them uniforms you are giving them opportunities to express themselves and their individuality in other ways. The quality of their schoolwork, projects, writings, attitude, that’s what matters. Another thing is that with uniforms there won't be any place for judgment or prejudices based on appearance, or at least not as much. And uniforms really aren't that ugly either, as I know that's what a lot of people argue. They can actually be really nice. 

	D.
	No school uniforms.

They're expensive for parents: Those parents who would have sent their children to school in old hand-me-downs and knitted jumpers may not be as relieved about the uniform as you may think, as it will mean they have to fork out for expensive school uniforms time and again in order to pay for their children's education. They will also need several versions of the same outfit as their children will have to wear them five days a week. By letting children wear their own clothes you can avoid all of the politics involved here.


	Pros
	Cons

	
	

	
	

	
	

	
	

	
	

	
	

	
	


Раздел ЛЕКСИКА И ГРАММАТИКА
	Прочитайте текст и заполните пропуски 11–15. Для каждого пропуска используйте ОДНО слово. Каждому пропуску соответствует отдельное задание 11–15.


11

A blind Greek poet Homer was the author of the _____________________ famous Greek myths and legends. 
12

During Homer’s life he spoke his poems to students, who memorized them. Later these poems ________________________ written down. 
13

Today, reading the Iliad, one of his poems, we learn about the war ________________________ the ancient Greeks and the city of Troy. 
14

Another Homer’s poem the Odyssey tells us about the 10 year adventures of a hero ________________________ his way home from war. 
15

Today we use the word Odyssey ________________________ describe “a long adventures trip.” 
Перепишите каждое предложение 16–20, сохранив его смысл, используя заданную структуру нового предложения. и слово, данное перед предложением.
16

It was wrong of you to speak to my mother like that. 

SHOULD You _________________________________ to my mother like that. 
17

It’s vital to wear a helmet when you ride a motorbike.

HAVE  You ______________________________ when you ride a motorbike. 
18

The last time I went swimming was when we were in Spain.

GONE  I _____________________________ since I was in Spain. 
19

Richard can cook really well.

GOOD Richard _________________________________ cook. 
20

Don’t sit in front of the TV all day, take regular exercises.

BETTER Instead of ___________________________ you _______ take regular exercises.
Система оценивания диагностической работы по
английскому языку 10 класс
За правильный ответ на каждое задание с номерами 1–10, 12–16  ставится 1 балл. Если указаны два и более ответов (в том числе правильный), неверный ответ или ответ отсутствует – 0 баллов.

Ответы на задания с выбором ответа и с кратким ответом

	№ задания
	Ответ

	3
	3

	4
	2

	5
	3

	6
	2

	7
	2

	8
	1

	9
	1

	11
	most

	12
	were

	13
	between

	14
	on

	15
	to


Критерии оценивания заданий с развёрнутым ответом

1
Данное задание оценивает учитель по следующим критериям.
Максимальное количество баллов - 14
Примерные ответы (отмечены фоном) 

	
	Основные

смысловые единицы.
	Примерные ответы

(заполняет учащийся)

	Childhood
	family moved to England why
	1.* milder climate

	
	became an orphan when
	2. 10 years old

	
	brought up by
	3. Family friend /catholic priest /Father Francis Morgan

	4. school years
	devoted much time to
	5. reading

	
	interests related to Scandinavian culture
	6. sagas, mythology

	Love story
	Edith: age
	7. 19 years old

	
	reaction of adults
	8. Furious/opposed/against/wish to separate

	University years
	scholarship to 
	9. Oxford

	
	went to Cheltenham why
	10. to marry Edith

	11. war years
	the influence of the experience
	12. loved calm of countryside

	
	
	13. hated industry, evil of inhumanity and war

	
	his most famous books
	14. the Hobbit/ the Lord of the Rings


	Указания к оцениванию
	Баллы

	За каждый верно заполненный пункт конспекта учащийся получает 1 балл. Верно выполненным задание считается при условии:

1) совпадения с ключами, 

2) ответы близкие по содержанию к ключам, не превышающие 4 слов. 
	1

	Ответ не соответствует вышеприведенным критериям
	0

	Максимальный балл за заполнение 1 пункта конспекта
	1

	Максимальный балл за выполнение всего задания
	14


2
Данное задание оценивает учитель по следующим критериям.

	№
	Критерии оценивания 

(Максимум 8 баллов)
	Баллы

	К1
	Содержание (максимально 3 балла)
	

	
	Задание выполнено полностью: содержание охватывает все аспекты, указанные в задании; нет неоправданного расширения/сужения информации.
	3

	
	Задание выполнено: содержание охватывает все аспекты, указанные в задании, но некоторые (1-2) из низ раскрыты неполностью И/ИЛИ присутствует неоправданное расширение/сужение информации.
	2

	
	Задание выполнено не полностью: содержание охватывает не все аспекты, указанные в задании.
	1

	
	Задание не выполнено: раскрыт только 1аспект, указанный в задании.
	0

	К2
	Организация текста (максимально 3 балла)
	

	
	Текст логичен, структура текста соответствует предложенному плану; ключевая идея выражена в первом или последнем предложении; использованы разнообразные речевые модели в начале предложений; средства логической связи использованы правильно.
	3

	
	Текст в основном логичен; структура текста соответствует предложенному плану; однако, ключевая идея выражена нечетко; речевые модели  в начале предложений однообразные; есть нарушения в использовании средств логической связи (1-2).
	2

	
	Текст не совсем логичен, структура текста отклоняется от предложенного плана ; ключевая идея не сформулирована; имеются нарушения в использовании средств логической связи (более 2); речевые модели  в начале предложений однообразные.
	1

	
	Отсутствует логика в построении текста, предложенный план ответа не соблюдается.
	0

	К3
	Языковое оформление речи (максимально 2 балла)
	

	
	Используемый словарный запас соответствует поставленной коммуникативной задаче; практически нет нарушений в использовании языковых средств (допускается 1–2 негрубые ошибки).
	2

	
	Используемый словарный запас соответствует поставленной коммуникативной задаче, однако, встречаются отдельные неточности в употреблении слов, грамматических структур, правописании (допускается не более 4-х ошибок, не затрудняющих понимания), либо ошибки отсутствуют, но языковой запас ограничен.
	1

	
	Крайне ограниченный языковой запас не позволяет выполнить поставленную задачу. Допущено более 4 языковых ошибок.
	0


*Примечание. При получении учащимся 0 баллов по критерию «Содержание» всё задание оценивается в 0 баллов. 

10
Возможные элементы верного ответа

	
	Pros
	Cons 

	1
	no difference between rich and poor
	violates the first amendment

	2
	promote a sense of teamwork
	feel locked up inside

	3
	make equality between students
	

	4
	focus more on learning.
	limit freedom of expression

	5
	to save families time and money
	reduce creativity

	6
	
	expensive

	7
	respect
	Conformity, 

	8
	discipline
	to be the same

	9
	provides different ways to express individuality
	

	10
	No place for judgment or prejudices
	

	11
	prevents teasing
	


	Указания к оцениванию
	Баллы

	За каждый правильно приведенный аргумент учащийся получает 1 балл. Правильно приведенным аргументом считается тот аргумент, смысловое содержание которого соответствует одному из предложенных в ключах. Языковые ошибки не снижают оценку.
	1

	Вопрос не соответствует вышеприведенным критериям
	0

	Максимальный балл за 1 аргумент
	1

	Максимальный балл за все задание
	10


16
	Элементы верного ответа
	

	You shouldn’t have spoken to my mother like that.
	

	Указания к оцениванию
	Баллы

	Предложение сформулировано верно
	1

	Ответ неверный или отсутствует
	0

	Максимальный балл 
	1


17
	Элементы верного ответа
	

	You have to wear a helmet when you ride a motorbike.

	

	Указания к оцениванию
	Баллы

	Предложение сформулировано верно
	1

	Ответ неверный или отсутствует
	0

	Максимальный балл 
	1


18
	Элементы верного ответа
	

	I haven’t gone swimming since I was in Spain.

	

	Указания к оцениванию
	Баллы

	Предложение сформулировано верно
	1

	Ответ неверный или отсутствует
	0

	Максимальный балл 
	1


19
	Элементы верного ответа
	

	Richard is a very good cook.

	

	Указания к оцениванию
	Баллы

	Предложение сформулировано верно
	1

	Ответ неверный или отсутствует
	0

	Максимальный балл 
	1


20
	Элементы верного ответа
	

	Instead of sitting in front of the TV you had better take regular exercises.

	

	Указания к оцениванию
	Баллы

	Предложение сформулировано верно
	1

	Ответ неверный или отсутствует
	0

	Максимальный балл 
	1


Рекомендуемая шкала перевода первичных баллов в школьные отметки

Общеобразовательная организация может скорректировать представленную шкалу с учетом контингента обучающихся.

	Школьная отметка
	5
	4
	3
	2

	Первичный балл
	49-43
	42-33
	32-18
	17 и менее


 ~EndLATTest
* Поля с цифрами заполняет учащийся


* Поля с цифрами заполняет учащийся
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